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1. All the problems studied in economics arise from
(A) the unequal distribution of income
(B) overpopulation
(C) the scarcity of resources
(D) inappropriate government action
2. The three groups of decision makers in the economy are
(A) households, business firms, and banks
(B) households, business firms, and governments
(C) business firms, governments, and banks
(D) business firms, banks, and foreign traders
3. Microeconomics deals with which of the following?
(A) he total output of an economy
(B) the measurement of a nation’s inflation rate
(C) how prdducers and consumers interact in individual markets
(D) how tax policies influence economic growth
4. The opportunity cost of a particular activity
(A) 1s the same for everyone pursuing this activity
(B) may include both monetary costs and forgone income
(C) always decreases as more of that activity is pursued
(D) usually is known with certainty
S. Carl 1s considering attending a concert with a ticket price of $35. He estimates that the cost of driving to
the concert and parking there will total an additional $20. In order to attend the concert, Carl will have
to take time off from his part-time job. He estimates that he will lose 5 hours at work, at a wage of §6
per hour. Carl’s opportunity cost of attending the concert equals '
(A)335 (B)$5S (C)$30 (D) $8s
6. The production possibilities frontier illustrates
(A) the combinations of goods that could be produced with resources and technolo gy constant
(B) how technology influences opportunity costs
(C) the law of diminishing returns
(D) how price changes affect decision making of individuals
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7. In a perfectly competitive market,
(A) there can be few or many buyers and sellers
(B) the price can be driven upward by suppliers holding back on goods and services
(C) each participant is too small to affect the market price
(D) government intervention is needed to ensure that prices are fair for consumers
8. Which of the following is characteristic of an imperfectly competitive market?
(A) all of the following are correct
(B) no single buyer or seller can influence the market price
(C) a large seller can raise its price without reducing its sales volume
(D) a seller can increase its sales by lowering the price of its product
9. Each point along the market demand curve shows '
(A) the quantity of the good that firms would be willing and able to supply at a specific price
(B) the relationship between the price of the good and total quantity demanded at a series of prices
(C) the opportunity cost of supplying a given quantity of goods to the market
(D) the quantity of the good that consumers would be willing and able to purchase at a specific price
10. Price floors and price ceilings

(A) lead to the same prices and quantities that would be found in a competitive market
(B) lead to technical efficiency

(C) cause the demand curve to shift to the left
(D) usually result from government intervention
11. When the minimum wage is set above the equilibrium market wage,
(A) there will be an excess demand for labor at the minimum wage
(B) it will have no effect on the quantity of labor employed
(C) the unemployment rate will rise
(D) the quality of the labor force will rise
12. If'an excise tax is imposed on a good or service,
(A) the supply curve shifts upward
(B) the supply curve shifts downward
(C) the price paid by consumers decreases
(D) the net price received by sellers increases

13. Which of the following determines the maximum price a firm may charge for a particular quantity of
output?
(A) the firm’s supply curve (B) opportunity costs
(C) explicit and implicit costs of production
(D) the demand curve facing the firm




 NBABAE O RERALYER AL RAA

2 (FF) B B AeMAE  LEPEA  BRoRtEi Mo 100 &
@ B —#h - EATE 2
4 H G @#x% ) A#£ 6 R

14. If a firm faces a horizontal demand curve, marginal revenue

(A) 1s constant regardless of how much output the firm produces
(B) decreases as the firm produces more output
(C) increases as the firm produces more output
(D) decreases if the firm produces less output
15. Economies of scale act as a barrier to entry because
(A) one large firm can supply the market at a higher average cost than many small firms could
(B) firms are not allowed by law to sell output below average cost
(C) large firms can hire inputs at a higher price than smaller firms
(D) one large firm can produce the market output at a lower average cost than many small firms

16. Assume net exports are $1800, consumption is $6,000, tax revenues are $2,000, government purchases

are $1,500, and 2007 GDP, calculated by the expenditure approach, is $12,000. We can conclude that
(A) private investment was $3,500

(B) public investment was $500
(C) private investment was $5000
(D) private investment was $2,700

I'7.  Use the table to calculate the rate of inflation for 2008. Assume that 2007 is the base vear.

2007 2008

. _
Personal Computers $450

Bread 10,000 | $3

(A) 7.1 percent (B) 9.3 percent (C) 16.0 percent (D) 24.3 percent

18. If the Consumer Price Index (CPI) increases from 50 to 100 and the nominal wage increases from $50,

to $200 what is the change in the real wage in terms of the beginning year’s dollars?
(A) +35200 (B)+$100 (C)+$50 (D) +3150

19. Assuming the economy was in equilibrium, use the following information to determine the total amount of
funds demanded in the loanable funds market.

(A) $0.3 trillion (B) $2.5 trillion (C) $2.8 trillion (D) $3.0 trillion.

$3.5 trillion
$2.7 trillion
Housechold Saving $2.8 trillion

$2.5 trillion
$3.0 trllion
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20. If both labor demand and labor supply fall, what will happen to the real wage, employment, and utput?
(A) employment and real output will decrease, but the effect on the real wage depends upon the

magnitudes of the shifts.

(B) the real wage will increase, but the effects of employment and real output depend upon the
magnitudes of the shifts

(C) the real wage, employment, and real output will all decrease

(D) the real wage will increase, real output will increase, but the effect on employment depends
upon the magnitudes of the shifts '

2]1. The existence of economic fluctuations makes it clear that

(A) our economy will soon experience a period of prosperity

(B) the Keynesian model has a flaw.

(C) we need active monetary regulation

(D) the classical mode! has a flaw.

22. 1f the Federal Reserve sets a required reserve ratio of 0.2 and a bank has $100 million in loans and $90
million in deposits, what is the level of required reserves for the bank?
(A) $10 million (B) $18 million (C) $90 million (D) $20 million
23. Ifthe Federal Reserve wishes to increase the money supply by $60,000 and the reserve requirement
ratio is 0.4, how big a purchase of bonds will the Fed need to make?
(A) 336,000 (B)$24,000 (C)$150,000 (D) $60,000
24. Ifthe actual interest rate is below the equilibrium interest rate, the
(A)_ Fed must intervene in financial markets to restore the interest rate to its equilibrium value
(B) money supply will increase until the interest rate rises
(C) price of bonds will decrease
(D) price of bonds will increase.

25. If the economy is at a point on the aggregate supply curve but to the right of the aggregate demand
curve, then which of the following will be the first market force to lead the economy toward an
equilibrium?

(A) at the current output level, prices will be too high and firms will Jower their prices

(B) at the current price level, output will be too high, inventories will diminish, and firms will
Increase their production | | |

(C) at the current price level, output will be too high and so prices will drop so that output will drop

(D) at the current price level, output will be too high, inventories will pile up and firms will cut back
on their production
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26. Which of the following components of government spending and revenue serves as an automatic
stabilizer?

(A) unemployment insurance (B) the multiplier (C) property taxes (D) the wealth effect
27. If we know that the exchange rate is 25 NTDs per USD, then we know that the exchange rate of NTD

per USD is .
© (A)25 (B)25 (C)0.04 (D)04
28. Ifthere 1s a strong possibility that the dollar price of the Japanese yen will fall in the next few months,

which of the following would we expect to happen right now in the market for yen?
(A) a leftward shift of the demand curve, a rightward shift of the supply curve, and a depreciation

of the yen
(B) a leftward shift of the demand curve, a leftward shift of the supply curve, and a depreciation of

the yen
(C) a rightward shift of the demand curve, a rightward shift of the supply curve, and an appreciation

of the yen
(D) a rightward shift of the demand curve, a leftward shift of the supply curve, and an appreciation
of the yen

29. To prevent cost-push inflation
(A)there must not be an excess demand for money.
(B)interest rates must not rise.
(C)there must not be an decrease in government purchases.

(D)the central bank must not let the quantity of money rise persistently.

30. Aggregate demand increases when
(A)foreign income fall.
(B)interest rate rise.
(C)the foreign exchange rate rises.
(D)None of the above answers is correct.
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3. Suppose the working-age population is 150 million, the labor force is 125 million, and employment is
120 million.

(a) What is the unemployment rate? (5 4)

(b) Now suppose that 2 million students graduate from college and begin to look for jobs. What is the
new unemployment rate if none of the students have found jobs yet? (5 4-)
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